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(1) f(z,y) =22% —zy —y* — 62 — 3y + 5, (z,y) = (1,-2);
(2) f(z,y,2) = 2% +y° + 23 = 3wyz, (2,9,2) = (1,1,1);

(3) fla,y) = (L+2)™ (1 +y)", m,n HIEEE, (z,y) = (0,0);
(4) flz,y) = eV, (z,y) = (0,0).
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(1) f(z,y) = 2% =y, (z,9) = (0,0);
(2) fz,y) =sin[x(z +y)] -1, (z,9) = (§,1);
(3) fla,y) = ay +logzy — 1, (z,y) = (1,1);

(4) f(z,y)

4) f(z,y) = 2% +y> +ay — 3, (z,y) =(1,1).
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(1) 2¥ —x2® —1 =0, 2(1,2,1);
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(2) 22 +2y2 +322+ay —2=9 ’2Z(1 —2,1).

Y Oox2

:EE\%EME:

CUEHE, R AREDTF AR S HA LR R A5,
B U,V AR RRITE, f U > VO ORIATBE, H det Jf(z) # 0

VaoeU. MR f BN AAAE HIESE, MU — e 2 PR I.



